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H27.4.1 325,619 808,959 H27 1,269
H31.4.1 338,411 802,728 H29 1,286
12,792 6,231 17
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H27.4.1 4,719 216 16 4,951 363 176 539 5,490
H31.4.1 4,358 168 15 4,541 477 164 641 5,182
361 48 1 410 114 12 102 308
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H26.4.1| H27.4.1( H28.4.1| H29.4.1| H30.4.1| H31.4.1
5,015 4,951 4,940 4,876 4,734 4,541
33 39 37 34 32
H26 H27 H28 H29 H30
C C C ) C C
- 1,890 4 - 2,148 5 4 4,764 - 9 4,764 10 5 10,233
- -l 1| - 618 | - | - - - - - - - -
- - - - - - - - - - - - 260
- - 3 - 1,570 - - - 7 - 2,800 - 3,080
1,890 4,336 9 4,764 16 7,564 22 13,573
500
(H31.4.1 ) H30
8,015 167,319
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H30
(H31.4.1 ) () () C
0 4,980 5,785 5,333
321 3,980 6,990 2,731 11,464
8,516 16,797
(18 )
30
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1 2,724 201 29,250

3 1 129 8 1,370

1 3 21 1 660

3 22 0 66

5 11 2 65

5 11 1 600

2,918 213 32,011







